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1. Evaluate:

8 +0.50f 0.3—0.05
0,09 (3 marks)

2. Peter deposited sh 50 000 into a bank that offered compound interest at the rate of 10% per

annum. Calculate the total amount of money he had in the bank at the end of two years.
(3 marks)

3. Construct triangle PQR in which PQ =5 cm, PR =7 cm and QR = 6.5 cm. Bisect angle PQR
and let the bisector meet line PR at M. (2 marks)

Measure and determine the size of angle PQM. (1 mark)
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4. Atieno woke up at 5.30 am after sleeping for 7 hours 45 minutes. Find the time she slept in

12 hour system. (3 marks)
5. On a certain day, the number of men in a function was half that of women. The number of

children was three times that of women. The number of women who attended was 3x. Find

the sum of men and children. (2 marks)
6. Calculate the area of the shaded region for the figure given below.

(Take 7 = #). (3 marks)
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Ten students scored the following marks in a test marked out of 10.
6,10,8,8,9,12,6,7,5and 9.

Find the median score.

The pie chart below shows how Kassim spent his salary.

LOAN

FOOD

800

S/RenT

He spent sh 7000 on food.

Determine how much more money Kassim spent on loan than on rent.
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9. A cylindrical tank of radius 2.8 cm contains 36.96 cm? of water. Calculate the depth of water
in the tank. (3 marks)

(Take 77 = %),

10.  Each of the diagonals of a rectangular flower garden is 65 m. One side of the garden is 25 m
long. Determine the length of the other side of the garden. (3 marks)
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11. In the figure below, triangle ABC

is an isosceles, line AB = AC and angle CAB = 24°.

Find the size of angle CBD. (3 marks)
C
24°
A I B D
12. The table below shows distances in kilometres between A, B, C and D.
A
90 B
123 | 147 C
113 | 150 | 82 D
(2 marks)

Calculate the distance between towns D to A via town C.
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13. Ten identical taps can fill a tank of water in 8 minutes, how

many more taps would be needed
to fill the tank in 5 minutes.

(3 marks)

14. The ratio of boys to girls in a school is 3:5. There are 168 boys.

Determine the number of
pupils in that school.

(3 marks)
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